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Wherever he is separated from it, >''2 makes no 79°1?!

OVERVIEW
The X nx proceeds to show a contradiction from °"3 here [who maintains that
(wherever 1 9°72) there is no 77°1] to *"9 by a 7122 where he disallows a7 nipi
even though a person is 1 972 from a 22. Our MdOIN explains why the X3
did not question a similar contradiction in the opinions of n"A.
*

mooIN anticipates a question; why is it that the X773 -

— 9T XD 9192 220 WIN 22 %) D¥HT MIVWPND NN ND 9INMD 229N INN 2297
Did not want to ask that there is a contradiction between %''" and »''%, for
previously »n"7 was 213 concerning w7n (and did not allow the 5P nap to be
produced), and concerning a first born (ox) he was not 212,

mooIN cites the source where 1"7 is not 71222 M
— 07 INNNY 99192 N2 (0w 3,55 maa) PYTPIND D109 U5 PH931

For in Pwipnm "9 92 P2 we learnt in a Xnvm2; ‘a =192 which was ‘seized

with blood’ -

— 959191 92IN NTINY 5399 299N 529 5937 DI 1Y PYIY PRY BYPNA Y PPN
It is permitted to ‘let blood’ in a place where it will not make a blemish in the
7152, this is the opinion of »''9, while 3''% maintains etc.’ (that it is forbidden to be
a7 Ppn for a 22 even 01 Y7 PV PRY DIPn2). Seemingly just as 1", forbids the *7p1 nnp because
of the 190K 82> Xnw wwn it should also be forbidden to be 2w 1% W PRW 23PH2 07 PPn out of
concern that he may be 012 PYww Dpna a7 1°pn (as °" is wwn). Why does not the X3 pursue
this (seeming) contradiction?!

mooin replies:
INTYDO NIINT 9192 2INY »1IVWY NIINT DIVN

Because we can answer that (being 07 1°pn by a) 9192 is different (than making

"1 map before the Tmw), for by a 1102 there is a loss if he will not be o7 1pn, for the
animal may die. When there is a loss then we are lenient and are not Im3.”

! Bloodletting is a medicinal procedure for certain ailments. [See >"w1 here PR 7"71 1122 7"7.]
% This »"7 is the o°non that the X3 here cites from the 71wn (in N1MD2).
? See previous 22X 1"7 ndON that »"7 (also) maintains that there is no 771 if there is a X7°09.
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SUMMARY
n"7 1s not A by a 732 and permits 07 NP since otherwise there is a X7°09.

THINKING IT OVER
Why is the answer of X7°05 X2°X more obvious than the answer of 1 ¥ 2172 DX

(which the X773 answers to explain the contradiction by >"9)?
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